Multiplying Hundredths

Name: Score:

Solve the following problems.

3 x 025 = 5 x 022 =

4 x 0.17 = 6 x 0.18 =

2 x 055 = 7 x 027 = 4 x 035 =
4 x 044 = 8 x 0.15 = 2 x 099 =
8 X 045 = 7 x 0.14 = 3 x 056 =
2 x 075 = 6 x 036 = 5 x 0.19 =
9 x 032 = 5 x 045 = 7 x 025 =
6 x 0.16 = 3 x 023 = 4 x 0.65 =
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Answers

Solve the following problems.

3 x 0.25

4 x 0.17

2 x 0.55

4 x 044

8 x 045

2 x 0.75

9 x 032

6 x 0.16

0.75

0.68

1.1

1.76

3.6

1.5

2.88

0.96
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X 022 =

x 0.18 =

X 0.27 =

X 0.15 =

x 0.14 =

x 036 =

X 045 =

x 023 =

www.mathinenglish.com

1.1

1.08

1.89

1.2

0.98

2.16

2.25

0.69

x 0.99

x 0.56

x 0.19

X 0.25

X 0.65

1.98

1.68

0.95

1.75

2.6



